? Y= /)( ‘*FI Z Use I:,uﬂ:rcf;/si

x-intl! y=0 _J-:n{‘/x:o
O =A+T Ly=7
L (0,%)
|('7‘,0 )

TN

3 |

4# ? p QB% Quiz #//-/I [gm,;ts ety
Gh@/:i{ vsing. @ #ﬂé/c Lor # Y- 4_, 7.
%ﬁfﬁj@%JSQdewki:#FEMIl

o (-7,2) 2.1 (ol-5) | 13| (12!<h |
@quaj'i(I Lyraxss @u /rf-:.ﬂ!ﬂ
.L/- —?4( ’?J:/vz Darg.‘r! Eq.«pﬂ.! Solwliom |
IRZimnan 7 2 N IREE YT M IR
_ R A T NEETA P 3 |
| PANEw gz y+6): g |(378)
|| _—Lj=-a7« +{-6) -l ;ij J(—l) f—(“Q _
| | ; y:2+(6)z4 |EL )
. [~ §= a:?[a);+(:6)+ 1 '
L1 | | Y= 0 Hg)=6 |(0,-G)
L R0+
Ll el = 41¢58)
D majn RaﬂJC:_ 5’/&‘[.-""1 L -
X yz5  1(x,4)
2 ly=-5 1@l
o |y=-51 |tc,-5)
2 ya-5  §(2,-5) |
q i"“;’T: %(‘1,-5') / * 'S-'?-S: Yy .
T e 69 o9
! Vo
b, K= & Domain | Kadge Sol 4 | . /Tj _
l K=( 4 (n,4) | (6,4)
¢ 2 e Nl
[ 6 O (6,0) G,
G 2 @, | ||
G Y (é;‘f) s (6,0)1
. , A
Y



14#/'? (oﬂ)‘(:'nu’&/
0 A3 Hg—1

g, Y= xX=3 [ﬂse L.Jcrrepnq

/X’fn'l’ ; 5:0 \’1"‘{41".’/}(:0

O =X+(-3) Y -3
N=3 (0,-3)
(3,0)
7. Y= -5K +od  Domain wae Sdution LO,;Q
Kol Yy=-sx+2  |x,8) y= EH+
[(/se a Eé/el -1 |y=%N R >
yz §+3= F (-l)?-) X
8] W= ~5(0)+ A
y=0 +a=3 [(&3) (,\;’1’)
] yz -5 + 2
4= 5+ =3 [(1,-3)
A |4= -5 2
ys -io+2:-¢ |,-€) J
@ 8
10. /X-f-35 = /5 Pse In*’rraﬁg
1)
At Y =0 5—"#5 X =0 v=4§_(9,5)
X =15 gj =15
(15,0) Yy=5
(0, 5)
€
vV
AN
. 3 X —éfj: 26 4
S "
X-intty =0 (R0) 74
34 =36 (f),o)
%=l
:-j’iu'r ) &1
“6y=36 (0)—6) (0,6

4:-6



